IMPORTANT NOTES

1. The ceiling minimum structure capacity must be able to support the load specified
on the installation drawing.

2. Electrical power source outlet already available by the facility at a maximum
distance of 3 meters from charging station.

3. Any obstructions such as vents, pipes, lights and sprinklers that could possibly be
in the path of the ceiling lifts to be removed or relocated by the facility prior to
installation.

4. Modifications of door headers by the facility.
5. Arjohuntleigh reserves the right to slightly modify the track layout if necessary.

6. See the "Agreed Conditions for the Installation of Ceiling Lifts" document included
with this quote for important installation details.

7. Arjohuntleigh will not be held responsible for any damages, inconvenience,
resulting from hitting any non visible conduits during our installation process.

8. Signed drawings are required prior to ordering and installation of ceiling lifts. This
signature of each drawings confirms agreement of all the conditions listed above.

MY SIGNATURE BELOW VERIFIES THAT | HAVE:

Reviewed all 7 _ pages, with a total quantity of 1 rooms, for the
approbation of layout for each room and the approbation of structure for
each room. | verify that the answers below are accurate to the best of my
knowledge and | understand that the quote produced is dependent upon

the conditions below as well as this full drawing set.

Legend
Light
* 9 X Bracket
Vent @  Joint bracket
_ ®  Wall bracket
. Access trap required ’ Wall post side
Existing access trap p  Wall post
L I— " " o H
T" junction
-EB— Sprinkler r )
Smoke detector vl Gate
(€= Electrical outlet <*>@ Turntable
CURTAIN Curtain track % Exchanger
v v IV track @ Motor/Charger location
*
[;'O}o 1;7/ ] ] Swivel p0|e
/ (*) Symbol may vary depending of equipment type)
REVISION(S) DATE(S) (D-M-Y) |

INSTALLATION DRAWING

VA SAN DIEGO

e s aload dock available? NO
e Can facility accept shipment and store until install begins? NO
e Wil a drop trailer be needed? YES (DISTRIBUTOR . ~ ~N
e Is parking available on site? |s there a fee involved? YES '
e Are there any installation time frame limitations? L ARJOHUNTLEIGH )
What are they? YES ( REPRESENTATIVE : h
e Is alevel of infectious control required? NO BILL ASHBROOK ARJOHU NTLEIGH
If YES, then what level > < GETINGE GROUP
DATE (DD-MMM-YYYY) :
CUSTOMER 19-APR-2016
\ DA <
APPROVAL: DATE: ( REFERENGE # : Y PAGE: )
QC-04191601 1/7
\VAMC San Diego 3350 La Jolla Village Dr. San Diego , CA 92161 \ A\ /)




REFER TO PAGE 5/7 FOR BRACING REQUIREMENTS

L

CS-ECS |

" 90

72"H90

108] OAEN1\40

Date Signhed: 6/16/16

nore curmne or raus onsre ONLY][ ARJOHUNTLEIGH | @Larson

[ THIS LAYOUT HAS BEEN PREPARED WITH SUPPLIED DATA.]

Larson Engineering, Inc.

118 S, Clinton Street, Sulte 250
Chicago, Illinols 60661
312.345,.0540 Fax: 312.332.1484
www.lorsonen%r‘.com

LEI Committ 23160004.028

Limited to structural content only

- ALL HARDWARE INCLUDED.
(ACCORDING TO STRUCTURE)

=

O
. cdee

. R

g TCONCRETE L

(@]
l TILE
LL
A=108" F=10" ECS SYSTEM
B=100" G=48"
c=12" H=5"
D=5" ECS SYSTEM

(QUANTITY OF ROOMS:

(LISTING OF ROOM NUMBER(S):
4344

VA SAN DIEGO

\.

| PWE WORKING LOAD BELOW LIFT: 600LBS [272KG]
MINIMUM STRUCTURE CAPACITY: 750LBS [340KG]

T
o=t

J

L DATE CREATED (DD-MMM-YYYY) : 19-APR-2016

DRAWN BY :

1/4" = 1"

SCALE :
Par

REFERENCE #:
QC-04191601

IPAGE:

217

L\_J;J\




- ALL HARDWARE INCLUDED.
(ACCORDING TO STRUCTURE)

PLACE ANCHOR WITHIN

PRI AL Al 17 OF CENTERLINE —— "NOTE: ARJOHUNTLEIGH

5" MIN (BY OTHERS) OF DECK RIB 12" MAX TYPICAL ANCHOR: 1'c=3,000 PSI MINIMUM GUARANTEES THE STRUCTURAL
. FQ e EQ /'w,“kl' K e E DT INTEGRITY OF THE TOTAL LIFT

. —t = SYSTEM DESIGN, INCLUDING
Mace Tac el TRACK, BRACING, HANGERS, AND
[t e A ALL CONNECTIONS TO THE

/ N/ Zw/ BUILDING STRUCTURE. OUR
DESIGN IS BASED ON THE
REQUIREMENTS OF THE CURRENT
EXISTING STRUCTURE (BY OTHERS) INTERNATIONAL BUILDING CODE
(IBC) AND THE SESMIC LOADS OF
510007 UPPER RAL THE REGION. THE FACILITY MUST
VERIFY THE ADEQUACY OF THE
BUILDING STRUCTURE TO
SUPPORT THE LOADS IMPOSED BY
THE LIFT SYSTEM."

<

7T\

X3
21
N
NGB
r
D

S8 _——P1008 CHANNEL NUT
43" MIN

NUT 3/8-16
000.00405

PLACE ANCHOR WITHIN
1” OF CENTERLINE ——— EXISTING STRUCTURE (BY OTHERS)
OF DECK RIB NUT 3/8-16

000.00405 CEILING PLATE .
\ _/_200_11140 1'c=3,000 PSI MINIMUM

RPN PO SR Lo e =L a D L UNISTRUT ANGLE P1068
«

T .. 4 '_:<!"-'. - = . Tt e . L 7 UNISTRUT CHANNEL NUT P1008

. e “ PR
S /2 R NIy Y s U Bour 3y

CEILING PLATE

oINS o CEILING PLATE - —
P1068 200.11140 43" MIN
T~_NUT 3/8-16 z (QUANTITY OF ROOMS: 0 ]
TYPICAL ANCHOR: 232'504\0::;;5 R0D 3/8-15 B > <
§* HILTI KWIK BOLT 7Z - [ -
W/ 28° MIN. EMBEDMENT  LATERAL BRACE L — 000.00394 | —I—H—EE- |
P1000 2°0" MAX |
UNISTRUT P9200 12—6" MAX )
BRACE IN (2) PERPENDICULAR E
DIRECTIONS 3
NUT 3/8-16 CEILING PLATE _E
000.00405 __ ___
~ 200.11140 NUT 3/8=16 ZINC
000.00424 h <
e P M T T T a3 T T A T LN AR M YA T T TR AR O PRSI NPT FTT ot A TR LOCKWASHER 3/8
—] 000.00425
CEILING PLATE FLAT WASHER M10 ZINC
200.11140 000.04430 VA SAN DIEGO

TRACK BRACKET_/ ]
700.11100 [ ™~_FLAT WASHER 10mm

STOVER LOCKNUT 3 /s—us_/ 000.04430 SAFE WORKING LOAD BELOW LIFT: 600LBS [272KG]
000.004! MINIMUM STRUCTURE CAPACITY: 750LBS [340KG]

FLAT WASHER M12
000.04875

-

J

cosign

Date Signed: 6/16/16 L DATE CREATED (DD-MMM-YYYY) : 19-APR-2016

J
Larson_Engineering, Inc. - -
@Larson 118 3. Clinton Street, Sulte 250 [DRAW“ BY ISCALE- ]
Par N/A

Chicago, Illinols 60661
312.345,0540 Fax: 312.332.1484
www.lor‘sonen%r‘.con
LEI Commit 23160004.028

Limited to structural content only

REFERENCE #: PAGE :
QC-04191601




°¢=3,000 PSI MINIMUM

43" MIN

EXISTING STRUCTURE (BY OTHERS)

STRUT BRIDGE

- ALL HARDWARE INCLUDED.
(ACCORDING TO STRUCTURE)

"NOTE: ARJOHUNTLEIGH GUARANTEES
THE STRUCTURAL INTEGRITY OF THE
TOTAL LIFT SYSTEM DESIGN,
INCLUDING TRACK, BRACING,
HANGERS, AND ALL CONNECTIONS TO
THE BUILDING STRUCTURE. OUR
DESIGN IS BASED ON THE
REQUIREMENTS OF THE CURRENT
INTERNATIONAL BUILDING CODE (IBC)
AND THE SESMIC LOADS OF THE
REGION. THE FACILITY MUST VERIFY
THE ADEQUACY OF THE BUILDING
STRUCTURE TO SUPPORT THE LOADS

EXISTING CONCRETE TOPPING SR Tl UeE RS TRUT IMPOSED BY THE LIFT SYSTEM."
ON COMPOSITE METAL DECK 36" P5500
5” MIN (BY OTHERS) 54" P1001
8-6" P5501
10 Ps001 P2787 BEAM CLAMPS
N 1] 1 /_
s =
PL»:«CE ANCHOR WITHIN FF——— P100s cHANNEL NUT EXISTING STRUCTURE (BY OTHERS)
17 OF CENTERLINE NUT 3616 1'6=3,000 PSI MINIMUM
OF DECK RIB
_ i . g 20.00405 UNISTRUT CHANNEL NUT P1008
e '.‘ Q . — 1 T A | PO _.4__ / 000.00426
B | :.:; D I ) . UNISTRUT ANGLE P1068
' 9 . P 2 Al .'4 g 4
SRR - . DI . BOLT 3/8-16X1
\E ./ . - \ 1./ \ / \ / Y \ 000.00357
P1068 CEILING PLATE —_ (QUANTITY OF ROOMS: 0 J
200.11140 —H——~—_CEILING PLATE J )
200.11140 43 MIN
TYPICAL ANCHOR: ~_NUT 3/8-16 2 T
I"/HIL11 KWIK BOLT TZ 000.00405 o
W/ 2" EMBEDMENT THREADED ROD 3/8-16 -
|_—""000.0038 / | T I H-== |
LATERAL BRACE
P1000 2'0” MAX — — |
UNISTRUT P9200 12-6" MAX =
BRACE IN (2) \ h J L )
PERPENDICULAR DIRECTIONS NUT 3/8-16 CEILING PLATE _E
000. 00405\ _/‘zoo.nuo ~— gg; 05 :55516 NG
—_——rerr———————ee e e Tt e et T T = LOCKWASHER 3/8 VA SAN DIEGO
:\f\ 000.00425
CEILING PLATE FLAT WASHER M10 ZINC
200.11140 000.04430
TRACK BRACKET ] FLAT WASHER M12 SAFE WORKING LOAD BELOW LIFT: 600LBS [272KG]
700.11100 ‘\Fw WASHER 10mm 000.04875 MINIMUM STRUCTURE CAPACITY: 750LBS [340KG]
000.
STOVER LOCKNUT 3/8-16 e 3
000.00402
01612:01 PM
cosign
Date Signhed: 6/16/16 \DATE CREATED (DD-MMM-YYYY) : 19-APR-2016 )
Larson Engineering, Inc. - -
Larson 118 3. Clinton Street, Sulte 250 [ CRAWNEY: SCALE:
Chlco o, Illlnols 066 Par N/A
Foax: 312,332.1484
[E%‘ ‘88333.92 160004.028 ReFeRaNceY: PAeE!
Limited to structural content only ' QC-04191601 417




1 TRACK SECTION
0 TRACK BRACKET JOINT
3 LATERAL BRACES

.
LATERAL BRACE REQUIREMENTS REV-3

.! J

¢ &> x
| 2 TRACKS SECTION
1 TRACK BRACKET JOINT
4 LATERAL BRACES

- ALL HARDWARE INCLUDED.
(ACCORDING TO STRUCTURE)

g

T L&
3 TRACKS SECTION
2 TRACK BRACKETS JOINT |
6 LATERAL BRACES R T R T e PR T T i o N I TN e R T T k)
LEGEND
LATERAL % TRACK TRACK
BRACE BRACKET BRACKET JOINT ACCEPTABLE ANGLE
4 TRACKS SECTION
3 TRACK BRACKETS JOINT - MINIMUM 3 LATERAL BRACES.
9 LATERAL BRACES - NUMBER OF LATERAL BRACE = (NUMBER OF TRACK BRACKET JOINT X 2) + 2.
(QUANTITY OF ROOMS: 0 J
'd N\
POSSIBLE ANCHOR LATERAL TO THE CEILING OR TO THE WALL 1
WOOD JOIST Y( STEEL )
MIN SPECIFIC
GRAVITY G=.42 UNISTRUT
000.0XXXX (. J
SADDLE NUT
s s 000.00424 \n
FLAT WASHER M10 = VA SAN DI EGO
- 000.04430 -
AT WASTwE% LOCK WASHER 38 _—~" [ 12:01 E’M
000.04430 000.00425 =
LAG BOLT §DIA BOLT 3(;36150251; C(Dﬁgl_’ﬁ WORKING LOAD BELOW LIFT: 600LBS [272KG]
W2 MIN EVIBED : L MINIMUM STRUCTURE CAPACITY: 750LBS [340KG]
- LATERAL BRACE LATERAL BRACE p <

MIN 2,500
PSI CONCRETE\

CONCRETE

LATERAL BRAGE
FLAT WASHER M12_—" _~
000.04875

HILTIKHEZ 3/8 X 3 %

34" MIN EMBED
418058

Date Signhed: 6/16/16
Larson Engineering, Inc.
118 S, Clinton Street, Sulte 250
Chlco&g’) Illinols 60661
312.345,0540 Fox: 3123321484
www.lorsonen%r.con
23160004.028

@Larson
LEI Commi:

Limited to structural content only

L DATE CREATED (DD-MMM-YYYY) :

19-APR-2016

N/A

DRAWN BY : SCALE :
Par

QC-04191601 517

[REFERENCE#: IPAGE:

H;}k




\,

Date Signhed: 6/16/16

@Larson

Larson Engineering, Inc.
on Street, Sulte 250

118 S, Clin

Chicago, Illinols 60661
312.345,.0540 Fax: 312.332.1484
www.larsone

LEI Comm#h

Limited to structural content only

ngr.com
2%160004.028

"NOTE: ARJOHUNTLEIGH GUARANTEES THE STRUCTURAL
INTEGRITY OF THE TOTAL LIFT SYSTEM DESIGN, INCLUDING
TRACK, BRACING, HANGERS, AND ALL CONNECTIONS TO THE
BUILDING STRUCTURE. OUR DESIGN IS BASED ON THE
REQUIREMENTS OF THE CURRENT INTERNATIONAL BUILDING
CODE (IBC) AND THE SESMIC LOADS OF THE REGION. THE
FACILITY MUST VERIFY THE ADEQUACY OF THE BUILDING
STRUCTURE TO SUPPORT THE LOADS IMPOSED BY THE LIFT
SYSTEM."

-
BRIDGE DETAIL - ALL HARDWARE INCLUDED. )
) "SPAN" , (ACCORDING TO STRUCTURE)
| REF. TABLE BELOW | STRUT TO BUILDING STRUCTURE
REF. PLANS AND DETAILS
@—\E] [ Item # Part # Description Qty
@\[f E:=3 1 000.00394 | THREADED ROD 3/8-16 X 10' ZINC 2
P o 2 P1008 NUT 3/8-16 ZINC 6
3 P1008 UNISTRUT SADDLE NUT 3/8-16 2
DuCT, PIPE 4 | 00000425 |LOCKWASHER 3/8" 2
OR OTHER |
OBSTRUCTIOR 5 000.04430 FLAT WASHER M10 ZINC 2
AS OCCURS 6 000.04875 | FLAT WASHER M12 2
7 1 5/8" SQUARE X 1/4" FLAT PLATE 2
WASHER
&" L STRUT BRIDGE PER TABLE
@\- T BELOW (SLOT- FACE DOWN)
el _ N ——— ]
@/': E TYP. ROD ¢ r
@/ WSS MAX. STRUT BRIDGE "SPAN"
DETAILS
%, TN LIFT CAPACITY
NG STRUT
R ap 600# (QUANTITY OF ROOMS: 0 )
) e 2"
“ P1000 2'-0"
’L P5500 3'-6"
VERIFY IN FIELD
[€ P1001 5'-4" > <
2016 12:01 PM
' o oo VA SAN DIEGO
3 P5001 10'

SAFE WORKING LOAD BELOW LIFT: 600LBS [272KG]
MINIMUM STRUCTURE CAPACITY: 750LBS [340KG]

)

-

J

DATE CREATED (DD-MMM-YYYY) : 19-APR-2016

(.

DRAWN BY :
Par N/A

ISCALE :

REFERENCE #:
QC-04191601

IPAGE:




ECS - ECS CHARGING

ECS ON FIXED RAIL

X V5 Duo
v/ MS600 ecs
V MS2 ecs

N E

CS ON MOVING RAIL

FLUSH X-Y CONFIG.

v V5 Duo
X MS600 ecs
Vv MS2 ecs

~

EMBEDDED X-Y CONFIG.

700-11228 - ECS to ECS wiring kit

=

X V5 Duo

v/ MS600 ecs
V MS2 ecs
X MS440

~N

STANDARD X-Y CONFIG.

X V5 Duo

< MS600 ecs
J MS2 ecs
X MS440

WALL MOUNTED X-Y CONFIG.

- ALL HARDWARE INCLUDED.
(ACCORDING TO STRUCTURE)

(QUANTITY OF ROOMS:

LN J

VA SAN DIEGO

SAFE WORKING LOAD BELOW LIFT: 600LBS [272KG]
MINIMUM STRUCTURE CAPACITY: 750LBS [340KG]

p

L DATE CREATED (DD-MMM-YYYY) :

19-APR-2016

DRAWN BY : SCALE :
Par

N/A

REFERENCE #: PAGE :
QC-04191601

717

A\




	Sheets and Views
	160526_23160004.028 VA San Diego Drawings-Title
	160526_23160004.028 VA San Diego Drawings-02
	160526_23160004.028 VA San Diego Drawings-X-31210.01-S7
	160526_23160004.028 VA San Diego Drawings-X-31210.01-S7 (2)
	160526_23160004.028 VA San Diego Drawings-X-31210.01-LateralUS
	160526_23160004.028 VA San Diego Drawings-X-31210.01-LateralUS (2)
	160526_23160004.028 VA San Diego Drawings-X-BB-BD-ECS.ECS-X-ECS-ECS


		2016-06-16T12:01:33-0600
	Joseph Tinder


		2016-06-16T12:01:39-0600
	Joseph Tinder


		2016-06-16T12:01:44-0600
	Joseph Tinder


		2016-06-16T12:01:50-0600
	Joseph Tinder


		2016-06-16T12:01:56-0600
	Joseph Tinder




